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(10 \'larhs)

Moclule-4
With necessary block diagram, explain the SC-FDMA basebiinci signal qcne ration.(10 !Iarks)
Explain the types of uplink reference signals. (10 N{arks)

OR
Explain the types of frequency hopping supportecl by LTE on PUSCH channcl. (10 tlarks)
Explain the typcs of Random access plocedures in LTE. (10 r{arks)
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USN 17EC81

Eighth Semester B.E. Degree Examination, Feb./Ma r.2022
Vllireless Gellular and LTE 4G Broadband

Time: 3 hrs. Mux. Marl<s: 100

i\ote: Ansx,er ory FII'/E Jitll questions, choosittg ONE full question.t'rom euch motlule.

Moclrrle- I

1 a. Explain tire advantages of OFDM for LTE. (04 \,larl<s)
l-,. Ilxplain tlie fbllou,ing in brief:

(i) Angular sprcacl and coherence distance
( ir t Nakaqorni-rrr f?rrling
(iii) Doppler sprezrcl and cohe rcncc tiurc. (12 ll.rrks)

OR
2 a. Write the block diagran-r of Evolved packct core arc'hitecture einci discuss thc ncu, clcntcnts

of IIPC. (ou Marks)
b. Erplain path loss Fnis transmission lbrmula. (0.1llarks)
c. Witli a neat diagrar-n, explain adaptive modulation and coding (08 Nlarlis)

Module-2
3 a. With a ncat block cliagrant, explain OFDM.

b. Comparc OFDM-F DMA, OFDM-TDMA anc'l OFDM-CDlVlA
c:. lrxplain receive clivcrsrty sclcction cou-rbining ancl maxirnal ratio colrbining.

4a.

b.

OR
Writc tl-rc block diagram of OFDMA clownlink transmittcr and crplarn thc pntrciptc o1'

operation. (0tl )Ia rks)
Write a note on cyclic prefix in OFDM. (0(r \{art<s)

Compare OIrDM systcrr ancl SC-FDE, system. (06:\Iarks)

(0tt IIarl<s)
(06 llarks)
(0(r \I a rks)

Module-3
5 a. Irxplain the krgrcal chamels in LTE. (07 \{:rrhs)

b. With nccessary diagram, explain the fiarre structure type I fbr the Ir[)D rnocic. (0rr NIarks)

c. Ilxplain the seven clitferent transmission modes fbr the data transnrission on the PDSCI I

channel. (07 \,larli.s)
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(10 llarl<s)
sLrb 1aycr.

(10 Marks)

(10 Marl<s)

(10 N{arks)
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